JoO00(IUL000)

goooobodooobbbogooooobd

0000 (08/11/14)-

1 ODO0oooooood

gobbuoodbbbdooobboooobbboooobbbooobbobboo
gobobuooobbogg20buogobboogbbobudgeogobbod
OAO00O0ODOOOz10D000000D0000DOCO0OODOOODOOOOO
gogbobobogoobobodao

> restart;
with(LinearAlgebra) :with(plots) :with(plottools):
A:=Matrix(1..2,1..2,[[3,2/3],[2/3,211);

A =

3 2/3
2/3 2 ]

> N:=30:p1:=[]:11:=[]:
for k from 0 to N-1 do
x0:=Vector ([sin(2*Pi*k/N),cos (2+Pixk/N)]);
x1:=MatrixVectorMultiply(A,x0);
pl:=[op(pl) ,pointplot ({x0,x1}1)];
11:=[op(11),1line( evalf(convert(x0,list)),evalf(convert(xl,list)) )];

end do:

goobobbobbouodooooobbobbouooooobbobboougd
O000000000000000000000 (principal axis) 00000000
goooo

> principal:=plot({1/2*x,-2xx},x=-4..4):



display([principal,op(pl),op(11)],view=[-4..4,-4..4],axes=box);

N

N
I TN TN N N O T T |

-4 rrrrrrrrrrrrrrorrorrd

-4 -2 0 2 4
X

2 000
ADODOOOODzO00D00D00D00DODO
Az = \x (1)

oooxO0O0OO00000000000,0000000000000D00
O0000000det(A—AE)=00000000000000D0O
OO0 MapleDODOOOODOOOOOOO

> x:=Matrix([[1,0],[0,11]1):
Mat_E:=A-lambda.x;




> eq2:=Determinant (A-lambda.x) ;

eq2 == 2 —5X+ N\

> solve(eq2=0,lambda) ;

10/3, 5/3

U00ddodidbDbD Eigenvectors U D OUOOUOOOO0O0OOOO0O0OO
000000000000D0000000 (Column)DOO0OO0OOOOOOOO

> (lambda,V) :=Eigenvectors(A);

10/3 2 —1/2

5/3 ] |1 1

n0000000000 (n+1) 00000000 n0D00D0OO0OODOOOO

ggbbobuoooobbbuoooobbboodad
000 (H)oooooooooooooooo

A Vo=

> lambda[1] .Column(V,1)=A.Column(V,1);

[10/3]:[10/3]




3 Googlel OOOONO

gbooboobbobbooboobuoobooboobboob
good

Googled pagerank 0 0 0000000 DOOODOOOOOOODOOOOOOODO
ggbbobuoogobbobbboogbbbuoooobobbuooobon

oooooooooot™

l.gbbbooobooobboobbdobboobbuoobbobboano
Udb+uogilioboogooboboouoon

2. 000000000
. 0bbougoobblouogoobobooogn

4. 0Jg0ooboobbbodgooooobobboobbodoooooon
goboobooogn

NN

1. 000000o0bOoboOMapledDODODOOOOODOO

2. 00g0gbbuogobbuoobbbooobobboobobboobobobg
gbobobooooboboboobobobuobobobobobod
gobbobuooobobboooobobuoooobobooooobooo

!0000 http://www.kusastro.kyoto-u.ac. jp/baba/wais/pagerank.html 000000
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gooo
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1
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3
4
5
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7

gooo

Transpose(A1) =

oo




ERN

1/5
1/5
1/5
1/5

1/5

1/2
1/2

o o o O

1/3
1/3

1/3

0

1/4

1/4
1/4

1/4
0

1/2

1/2

0

o o o O

—_

1/7
1/7
1)7
1/7
1/7
1/7
1/7

0.32
0.15
0.11
0.06
0.29
0.04
0.03




4 00O(@IDOO0O)ODDoO0DOO0O0ODOOOOOOOO

00 (000)0000000O0000000o000O0OoODOO0o0oDoOoooooOO
O000Oo0000O0o0bOoOO0U0oDOboO0OoOOoOOoUobD Aobbooo

Az = \x (5)
00 NODOO0O00000000000XMA00
det(A—AE) =0 (6)

gboobugoboobooboob
gboobooboobobbh Xooboooboo

X1 = AX,, (7)

0o000obOO0o0oA0O0OO0OO0OOOO0OOOOOCOOObOOObCOOOO0O0OOO0O0O00Oa
gooooodn
Oo000ooooooooooooooooooooooooooooood
00000000000 M|>|A]>-->[\/000000000010000
0o0o0o0oooon z,,xs,...,z, 0000000 O0OOOOOOOOOOOO
goodooo
Xo=cxi +caxy+ - +cpxy, (8)

O00o0o0oooooooo Ao NOOOOOO
ANXO:Cl)\leilil+02)\év$2+"'+0n)\nNﬂ3n (9)

gobboboggoobood

N N c2 [ A2 N Cn [ A N
ANXg=Xy=c Az + 2 (2] @yt -+ 2 (2] a, (10)
C1 /\1 &1 )\1

0000\ > N@GE>2)00000000 200000000
00000000000000000000000000000000000
oooo

5 JacobilOUOUOUOOOOOOOO

gbobbogobbduoobuoodgbbooobbooobbboobbobao
0000000000000 0000000000000000000 Jacobi(O
00)000000000000000000000000000000 (House-
holder) 000000000 OO0OOOOOOOOODOOOOOOODOOODOO
O000O0D000000Jacobi 00O OHouseholder OO DOODOOOOOO100
ggboobobooooboboooon



5.1 MapleOODODOOOO

gbooboobooboobobb pO0bOo0ovuvboobOon

BU— ( a1 Q19 ) < cos(f) —sin(0) )

192 Q2292 Sln(e) COS(H)

gboobobbd440000
U'BU
gboobgobobboboboobooboobo

> restart:

n:=4:

with(LinearAlgebra) :
B:=Matrix(n,n,shape=symmetric,symbol=a) ;

ai,1 a2 a1,3 414
B.— | 2 022 423 (24
a1,3 G233 3,3 0434
a1,4 Q2,4 Q34 044

#U:=Matrix(n,n, [[c,-s], [s,cl]);

OO ®»w O
S O 0

o= O O
o O O

> TT:=Transpose(U) .B.U;

> U:=Matrix(n,n, [[c,-s,0,0], [s,c,0,0],[0,0,1,0],[0,0,0,111);

(11)

(12)

(13)



TT =

[(cal,l +saj2)c+ (cara+saz2)s, —(car1+sai2)s+ (cai 2+ saz2)c,
cai 3+ Sas 3, cay 4 +sa2,4]
[(—sal,l +car2)c+ (—sai o+ caza)s, —(—sa1,1+cay2)s+ (—sai 2+ caz 2)c,

—say3+caz3, —sai 4+ ca274}

a3+ sag 3, —sai 3+ cazs, az 3, as, 4

Caia+saz s, —Sai4+cas 4, as 4, a4 4

> expand(TT[1,1]);
expand(TT[2,2]);
expand (TT[1,2]);
expand(TT[2,1]);
02a171 +2csay 2+ 32(1272

sQal,l —205a1,2+02a272

—scay,1 — 52a1,2 —i—czal,g +csaz 2

—scay1 —s?a; 9+ ctar o+ csazs

goooooooooogoenonoobOobOonon

(14)

gogboboboooob.y=1200000000000

> expand(TT[3,1]);
expand (TT[3,2]);

cay 3+ saz s
—Ssai,s —l—ca273

ggbobooooobbuooobbbuoooobbuooobobbooooboboo
goboobbbooodood



5.2 JacobiUDDOUOOOODOOOOCOOO

gogobboobbtbooooooobbobbodooooobobooboboboood
0000000000000000000000000000 (column) 0000
ggooood

gog 1: 000004

#include <stdio.h>
#include <math.h>

#define M 10
void PrintMatrix(double a[M][M], int n);

int main(void){
double a[M][M],v[M][M];
double eps=0.0001,div,r,t,s,c,apj,aqj,aip,aiq,vip,viq;
int i,j,n,iter,count,iterMax=1000000,p,q;

scanf("%d",&n);
for(i=1;i<=n;i++){
for(j=1;j<=n;j++) scanf("%1£" &ali][j]);
}
PrintMatrix(a,n);
for(i=1;i<=n;i++){
for(j=1;j<=n;j++) v[i][j]=0.
v[i][i]=1.;

for(iter=1;iter<=iterMax;iter++){
count=0;
for(p=1,p<=n—1;p++){
for(q=p+L;q<=n;q++){

if (fabs(a[p][q])<eps) continue;

count+-+;

div=a[p][p]—a[q][q];

if (div != 0.0){
r=2.0*a[p][q]/div;
t=0.5*atan(r);

1 else {
t=0.78539818;

}

s=sin(t);

c=cos(t);

for(j=1;j<=n;j++){
apj=a[p][i;
agj=a[q][j];
a[p][j]=apj*c+aqj*s;
alq][jl=—apj*s+aqj*c;

for(i=1;i<=n;i++){
aip=ali][p}

10

10

20

30

40



aiq=alilla]
a[i][p]=aip*c+aiq*s;

a[i][q]=—aip*s-+aiq*c;
vip=v[i][p];
vig=vlilla]
v[i][p]=vip*c+vig*s;

vli][q]=—vip*s+vig*c;

}

printf("p,q=%3d,%3d\n",p,q);
PrintMatrix(a,n);

}
}

if (count==0) break;

printf("Eigen values:\n");

for(i=1;i<=n;i++) printf("%6.2£"a[i][i]);
printf("\nEigen vectors:\n");

PrintMatrix(v,n);

return 0;

}

void PrintMatrix(double a[M][M], int n){

int i,j;

for(i=1;i<=n;i++){

for(j=1;j<=n;j++) printf("%6.2£" a[i[j]);
printf("\n");

printf("\n");

}

50

60

70

gbg 20000000000

[BobsNewPBG4: ~/NumRecipe/chap8] bobj, cat input.txt

4

5411
4511
1142
1124

BobsNewPBG4: ~/NumRecipe/chap8] bob) Jacobi2<input.txt

5.00 4.00
4.00 5.00
1.00 1.00
1.00 1.00

p,.g= 1, 2
9.00 -0.00

1.00
1.00
4.00
2.00

1.41

1.00
1.00
2.00
4.00

1.41

-0.00 1.00 -0.00 -0.00

11



1.41 -0.00 4.00 2.00
1.41 -0.00 2.00 4.00

p,qg= 1, 3
9.37 -0.00 -0.00 1.88
-0.00 1.00 0.00 -0.00
-0.00 0.00 3.63 1.57

1.88 -0.00 1.57 4.00
p,qg= 1, 4
9.96 -0.00 0.47 -0.00
-0.00 1.00 0.00 0.00
0.47 0.00 3.63 1.50
0.00 0.00 1.50 3.41
..<gdd»>...

Eigen values:
10.00 1.00 5.00 2.00
Eigen vectors:
0.63 -0.71 -0.32 0.00
0.63 0.71 -0.32 0.00
0.32 0.00 0.63 -0.71
0.32 0.00 0.63 0.71

6 UUO0LOUOOooOooooooon

gogobbbobbbodoooogobbobbbdoooooobbbbboado
gogobobbobbbouooooobobobobbouooooobbobbougod
ggbbbuoogbbboooobbod

gogobbbobboouooooooobboobbboobbbooooood
ggobbbbbbuooooobbobbbouoooooobbobobbougo
0000000 BLASO LAPACKOOOODODODODOOOooooo

goobooboboobobobobo Lvobobo cooboboboboo
OO0OOLAPACKOOOODODOODOODOODIo0oOODODODOODOODODO

> 1000 [dim] 2.5200 [sec] #BOB
> 1000 [dim] 0.4700 [sec] #LAPACK

00000000 PCO MacBook(2GHz Interl Core Duo) D00 OO0 O00O0O0O
004700 14GFLOPODODODOOOOODO 0700 MacBook(2GHz Interl Core 2
Duo)000000O00O0ODO

12



bob% gcc -03 bob.c -o bob

bob¥% ./bob
1000
1000 [dim] 1.7543 [sec] #B0OB

bobj, gcc -03 lapack.c -llapack -lblas -o lapack
bob% ./lapack

1000

1000 [dim] 0.1893 [sec] #LAPACK

O035GFLOPSODOODOOO

gogobbobobbuodooooobbbbbuooobbbbobooooooob
gobboooooobbuoogboboboobbbooobobbooobobboo
gbboodgboobboboboobuoobuooboobobobbobooubobo
O0000000000000 Fortrand COOOO0OOOOOOCOOOO)DOO
0000000000000 00000000000D0OOO0DO(MODOoOO
0)Dooooooooo

goguoodgobbooodgbbbooogb

OO0 3:000lazyODOOOOoOoOoOooOoO

#include <stdio.h>
#include <stdlib.h>
#include <math.h>
#include <time.h>

//#undef PRINT
//#define PRINT

void printMatrix(double *a, double *b, long n);
int MatrixInverse(double *a, double *b, long n); 10

int main(void){
clock_t start, end;
int i,j;
long n;
double *a, *b;

scanf("%1d",&n);

(double *)malloc(n*n*sizeof(double)); 20
(double *)malloc(n*sizeof(double));

a—
b:
for (i=0;i<n;i++){

for (j=0;j<n;j++){
a[i*n+j]= 2*(double) random() / RAND_MAX — 1.0;

}
}

13



for (i=0;i<n;i++){

bli]= 2*(double) random() / RAND_MAX — 1.0;
} 30
printMatrix(a,b,n);

start = clock();

MatrixInverse(a,b,n);

end = clock();

printf("%5d [dim] %10.4f [sec] #BOB\n",
n,(double)(end—start)/CLOCKS_PER_SEC);

printMatrix(a,b,n);

free(a); 40
free(b);
return 0;

}

int MatrixInverse(double *a, double *b, long n){
double *x;
double pvt=0.00005,am,;
int i,jk;

x=(double *)malloc(n*sizeof (double)); 50

for(i=0;i<n—1;i++){

if (fabs(a[i*n-+i])<pvt){
printf("Pivot %3d=%10.5f is too small.\n",ia[i*n+i]);
return 1;

}

for(j=i+1;j<n;j++){
am=a[j*n+i]/a[i*n-+i];
for(k=0;k<n;k++) al[j*n+k]—=am*ali*n+k];
b[j]—=am*bli]; 60

}

//Backward substitution
for(j=n—1;j>=0;j——){
x[j]=b{jl;
for(k=j+1;k<n;k++){
x[j]-=alj*n+k]*x[K];

}
b[j]l=x[j]/=alj*n+j];
70
free(x);
return O;

}

void printMatrix(double *a, double *b, long n){
int i,j;
#ifdef PRINT
printf("\n");
for (i=0;i<n;i++){
for (j=0;j<n;j++){ 80

14



printf("%10.5f ", a[i*n+j]);
}
printf(":%10.5£" bli]);
printf("\n");

printf("\n");
#endif
return;

}

O00 4: LAPACKOO smart 00O DO OOODOOOO

#include <stdio.h>
#include <stdlib.h>
#include <time.h>
#include <vecLib/vecLib.h>

void printMatrix(double *a, double *b, long n);

int main(void){
clock_t start, end;
int i,j; 10
double *a,*b;
long n,nrhs=1, lda,ldb, info, *ipiv;

scanf("%1d",&n);

a=(double *)malloc(n*n*sizeof(double));
b=(double *)malloc(n*sizeof (double));
lda=ldb=n;
ipiv=(long *)malloc(n*sizeof(long));
20

for (i=0;i<n;i++){

for (j=0:j<n;j++){

a[j*n+i]= 2*(double) random() / RAND_MAX — 1.0;

}

}

for (i=0;i<n;i++){
bli]= 2*(double) random() / RAND_MAX — 1.0;
}

printMatrix(a,b,n); 30

start = clock();
dgesv_(&n, &nrhs, a, &lda, ipiv, b, &ldb, &info);
end = clock();
printf("%5d [dim] %10.4f [sec] #LAPACK\n",

n, (double)(end—start)/CLOCKS_PER_SEC);
printMatrix(a,b,n);

free(a);
free(b); 40

15



free(ipiv);

return 0;

}

PrintMatrix 0 bobO OO OD0OOO0OO0OSXODO
gcc -03 -UPRINT lapack.c -llapack -lblas

O0000000D0000O0lnux00 LAPACK, BLASOODOOOOOOOOO
ggn

#include <vecLib/vecLib.h>
O00ooooooooo
gcc -03 -DPRINT lapack.c -L/usr/local/l1ib64 -llapack -lblas -1g2c

ggboobooggbboboogood

HEN

1.4x40000000000Maple000D00OO0O0OOOOODOODOODOO
goooo

2. JacobiDOOODOODOOOOODOO

3. LAPACKOOOOOOO dseyv0 000000 0000000MOOODO
0000000000000000000000000000000000
oooo)
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